
downstream_1

Entries  34

Mean    21.69

RMS    0.04471

Underflow       0

Overflow        0

Integral      34

Time (ns)
20 21 22 230
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downstream_1

Entries  34

Mean    21.69

RMS    0.04471

Underflow       0

Overflow        0

Integral      34

Time=21.652, Delta x=0.008 ns
Thresh=5.0 p.e.

=90 degθEshower=1.00 GeV, 

Downstream: Time in layer 1 downstream_2

Entries  499

Mean    21.82

RMS    0.08863

Underflow       0

Overflow        0

Integral     499

Time (ns)
20 21 22 230
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downstream_2

Entries  499

Mean    21.82

RMS    0.08863

Underflow       0

Overflow        0

Integral     499

Time=21.644, Delta x=0.008 ns

Downstream: Time in layer 2

downstream_3

Entries  1026

Mean    22.05

RMS    0.1713

Underflow       0

Overflow        0

Integral    1026

Time (ns)
21 22 23 240
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downstream_3

Entries  1026

Mean    22.05

RMS    0.1713

Underflow       0

Overflow        0

Integral    1026

Time=21.586, Delta x=-0.147 ns

Downstream: Time in layer 3 downstream_4

Entries  586

Mean    22.38

RMS    0.3015

Underflow       0

Overflow        0

Integral     586

Time (ns)
21 22 23 240
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downstream_4

Entries  586

Mean    22.38

RMS    0.3015

Underflow       0

Overflow        0

Integral     586

Time=21.838, Delta x=0.025 ns

Downstream: Time in layer 4


